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Factoring Trinomials (a=1)
Questions

For problems 1-9, factor the trinomial.
1)z +5z+6

The answer is (z + 2)(z + 3)
2) z? — 4z — 21

The answer is (z — 7)(z + 3)
3)z%+5z—6

The answeris (z + 6)(z — 1)
4)z? — 4z +4

The answer is (z — 2)(z — 2) or (z — 2)?
5)x? + Tz + 12
The answer is (z + 3)(z + 4)
6) 22 — 8z + 12

The answer is (z — 6)(z — 2)
7) 2® + 5z + 6

The answer is (z + 2)(z + 3)
8) 2% — 6z +8

The answer is (z — 4)(z — 2)
9) 22 — 8z — 20
The answer is (z — 10)(z + 2)
Challenge questions

10) z* 4+ 522 4+ 6

The answer is (22 + 2)(z? + 3)
11) z* — 5z + 4

The answeris (z — 1)(z + 1)(z — 2)(z + 2)

12) What is the sum of the solutions of 2% + 5z = 67
The answer is —5

2
13) Solve forx. 4 = 2 =9

— X
The answerisz = —7
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